
100013ZG321150001 1641540601

5732.845 5586.08

6592.086798.06 1000.054762.870 2115000001

x6 x12 x1

x6 x6

x1x6x6x6x4

MERCEDES Citan W420 L1 / L2     van        2022 >
NISSAN Townstar L1 / L2      van        2022 >
RENAULT Kangoo III L1 / L2     van        2022 >

    

N° 732

Ref: 156.732

SKA
700

SKB
732

 REV : 07/2024

4762.850
x2

1570007
x4

1173206
x1

1173202
x1

1173205
x1

1173201
x1

1173203
x2



A C

B D

E

F

M8X70

6592.08

2115000002

6798.08

3211500001

732 B

M8X50

3211500001

732 C

3211500001

732 A

M8X70

3211500001

732 C

M8X50

1)

3211500001

732 F

M8X70

3211500001

732 E

M8X70

L1

SI
LI
CO

NE



A C

B D

E

F

M8X70

6592.08

2115000002

6798.08

3211500001

1570007 

732 B

3211500001

1570007 

732 A

M8X70

3211500001

732 C

M8X50

1)

3211500001

1570007 

732 F

M8X70

3211500001

1570007 

732 E

M8X70

3211500001

732 F

3211500001

732 E

M8X50

3211500001

732 C

SI
LI
CO

NE

L2



FR; Le serrage des dispositifs de fixation et des pièces de sécurité, des barres porte-charges de toit, ainsi que 
des accessoires ajoutés doivent être vérifiés après chaque chargement et régulièrement pendant le trajet.
ES; Los ajustes de los dispositivos de fijación y de las piezas de seguridad, de las barras portacargas del te-
cho, y de sus accesorios añadidos deben ser verificados tras cada carga y regularmente durante el trayecto.
IT; La chiusura dei dispositivi di fissaggio e dei pezzi di sicurezza, delle barre portatutto, e di tutti gli accessori 
utilizzati, devono essere verificati dopo ogni utilizzo e regolarmente durante il tragitto, se necessario riprende-
re la coppia di chiusura.
EN; The tightness of the fixation devices and security parts, and the roof rack load bars, as well as any addi-
tional accessories, must be checked once loaded and regularly during the journey. Retighten if necessary.

H h h H
6 Nm

6Nm

x4

OK! NO!X

x6

x4 x4

= =

Check!

2)

3)

4)
x2




